

On Generalized Gamma Near-Fields

¹T. TAMIZH CHELVAM AND ²N. MEENAKUMARI

¹Department of Mathematics, Manonamiam Sundaranar University, Tirunelveli-627 012, Tamilnadu, India

²Department of Mathematics, A.P.C. Mahalaxmi College for Women, Tuticorin-628 002, Tamilnadu, India

Abstract. In this paper, we introduce the concept of generalized gamma near-fields and obtain some characterization of generalized gamma near-fields and gamma near-fields.

1. Introduction

Throughout this paper M stands for a Γ -near-ring. Γ -near-rings were defined by Satyanarayana [6]. For basic terminology in near-ring we refer to Pilz [5] and in Γ -near-ring we refer to Satyanarayana [6]. By analogy with the concept of inverse semi-group in semi-group theory, Murty [4] introduced the concept of generalized near-field in near-rings. In this paper we introduce the notion of generalized gamma near-field and obtain equivalent conditions for generalized gamma near-field using regularity conditions. Also we derive some equivalent conditions for gamma near-field. A Γ -near-ring is a triple $(M, +, \Gamma)$ where

- (i) $(M, +)$ is a (not necessarily abelian) group.
- (ii) Γ is a non-empty set of binary operators on M such that for each $\gamma \in \Gamma$, $(M, +, \gamma)$ is a right near-ring.
- (iii) $x\gamma(y\mu z) = (x\gamma y)\mu z$ for all $x, y, z \in M$ and $\gamma, \mu \in \Gamma$.

A Γ -near-ring M is said to be zero-symmetric if $a\gamma 0 = 0$ for all $a \in M$ and for all $\gamma \in \Gamma$. An element $e \in M$ is called an identity in M if $n\gamma e = e\gamma n = n$ for all $n \in M$ and for all $\gamma \in \Gamma$. A Γ -near-ring M is said to be a gamma near-field if M contains an identity and if every non-zero element has multiplicative inverse, that is if for $0 \neq a \in M$, there exists a unique $a' \in M$ such that $a\gamma a' = a'\gamma a = e$ for all $\gamma \in \Gamma$, where e is the identity in M . A Γ -near-ring M is called a generalized gamma near field (GGNF) if for each $a \in M$, there exists a unique $a' \in M$ such that $a\gamma_1 a'\gamma_2 a = a$ and $a'\gamma_1 a\gamma_2 a' = a'$ for every pair of non-zero elements γ_1, γ_2 of Γ . An element $a \in M$ is called idempotent if $a\gamma a = a$ for all $\gamma \in \Gamma$.

An element $d \in M$ is called left distributive if $d\gamma(a + b) = d\gamma a + d\gamma b$ for all $a, b \in M$ and for all $\gamma \in \Gamma$.

An element $0 \neq a \in M$ is called nilpotent if there exists a positive integer $n \geq 1$ such that $(a\gamma)^n a = 0$ for each $\gamma \in \Gamma$ [1]. A Γ -near-ring M is said to be sub-commutative if $a\gamma M = M\gamma a$ for all $a \in M$ and for all $\gamma \in \Gamma$. A Γ -near-ring M is called regular if for each $a \in M$ and for every pair of non-zero elements γ_1, γ_2 of Γ , $a = a\gamma_1 b\gamma_2 a$ for some $b \in M$. A Γ -near-ring M is said to fulfill the insertion-of-factors property (IFP) provided that for all $a, b, n \in M$, $a\gamma b = 0$ for all $\gamma \in \Gamma$ implies $a\gamma_1 n\gamma_2 b = 0$ for every pair of non-zero elements γ_1, γ_2 of Γ . A Γ -near-ring M is said to be without zero divisors [6], if $a\gamma b = 0$ for some $\gamma \in \Gamma$, then either $a = 0$ or $b = 0$.

2. Preliminary results on GGNF

Proposition 2.1. *If M is a GGNF, then M is zero-symmetric.*

Proof. Since M is a GGNF, for every $a \in M$, there exists a unique a' such that $a\gamma_1 a'\gamma_2 a = a$ and $a'\gamma_1 a\gamma_2 a' = a'$ for every pair of non-zero elements γ_1, γ_2 of Γ . Now for each $\gamma \in \Gamma$ and $0 \neq a \in M$, $a\gamma 0 \in M$ and so by hypothesis for every pair of non-zero elements γ_1, γ_2 of Γ there exists a unique $x \in M$ such that $(a\gamma 0)\gamma_1 x\gamma_2 (a\gamma 0) = a\gamma 0$ and $x\gamma_1 (a\gamma 0)\gamma_2 x = x$. Both 0 and $a\gamma 0$ satisfy the above equations. So by uniqueness $0 = a\gamma 0$.

Theorem 2.2. *A Γ -near-ring M is a GGNF if and only if M is regular and idempotents commute.*

Proof. Let M be a GGNF. By definition of GGNF, M is certainly regular. Let e and f be two idempotents and let $x = (e\gamma f)'$ for $\gamma \in \Gamma$. Then $(e\gamma f)\gamma_1 x\gamma_2 (e\gamma f) = (e\gamma f)$ and $x\gamma_1 (e\gamma f)\gamma_2 x = x$. Since $(f\gamma_2 x\gamma_1 e)\gamma (f\gamma_2 x\gamma_1 e) = f\gamma_2 (x\gamma_1 (e\gamma f)\gamma_2 x)\gamma_1 e = f\gamma_2 x\gamma_1 e$, the element $f\gamma_2 x\gamma_1 e$ is idempotent. Also $f\gamma_2 x\gamma_1 e$ satisfies the above two equations and hence $(e\gamma f)$ is an inverse of $f\gamma_2 x\gamma_1 e$. But $f\gamma_2 x\gamma_1 e$, being an idempotent, is its own unique inverse and so $f\gamma_2 x\gamma_1 e = e\gamma f$. It follows that $(e\gamma f)$ is an idempotent. Similarly one can show that $(f\gamma e)$ is an idempotent. Hence $(e\gamma f)\gamma_1 (f\gamma e)\gamma_2 (e\gamma f) = (e\gamma f)\gamma (e\gamma f) = e\gamma f$ and $(f\gamma e)\gamma_1 (e\gamma f)\gamma_2 (f\gamma e) = (f\gamma e)\gamma (f\gamma e) = f\gamma e$ and so $(f\gamma e)$ is an inverse of $(e\gamma f)$. But $(e\gamma f)$, being an idempotent, is its own unique inverse and so $e\gamma f = f\gamma e$ for $\gamma \in \Gamma$. Thus idempotents commute.

Conversely assume that M is regular and idempotents commute. Since M is regular, for each $a \in M$ and for every pair of non-zero elements γ_1, γ_2 of Γ , $a = a\gamma_1x\gamma_2a$ for some $x \in M$. Let $a' = x\gamma_2a\gamma_1x$. Then $a\gamma_1a'\gamma_2a = a\gamma_1(x\gamma_2a\gamma_1x)\gamma_2a = a\gamma_1x\gamma_2a = a$ and $a'\gamma_1a\gamma_2a' = x\gamma_2(a\gamma_2x\gamma_2a)\gamma_1x = x\gamma_2a\gamma_1x = a'$. Thus a' is an inverse of a . If possible let us assume that there exists $a'' \in M$ such that $a\gamma_1a''\gamma_2a = a$, $a''\gamma_1a\gamma_2a'' = a''$. Since $(a'\gamma_1a)$ and $(a''\gamma_1a)$ are idempotents, for all $\gamma_2 \in \Gamma$, $(a'\gamma_1a)\gamma_2(a''\gamma_1a) = a'\gamma_1(a\gamma_2a''\gamma_1a) = a'\gamma_1a$ and $(a''\gamma_1a)\gamma_2(a'\gamma_1a) = a''\gamma_1(a\gamma_2a'\gamma_1a) = a''\gamma_1a$ implies that $a'\gamma_1a = a''\gamma_1a$. Similarly we can prove that $a\gamma_2a' = a\gamma_2a''$ for all $\gamma_2 \in \Gamma$. So $a' = a'\gamma_1a\gamma_2a' = a''\gamma_1a\gamma_2a' = a''\gamma_1a\gamma_2a'' = a''$. Thus M is a GGNF.

Proposition 2.3. *If M is a GGNF, then M has no non-zero nilpotent elements.*

Proof. Let $a \in M$ and $a\gamma a = 0$ for all $\gamma \in \Gamma$ and let a has the inverse b . Since $a\gamma_2b$ and $b\gamma_1a$ are idempotents and hence commute (by Theorem 2.2). Therefore $b^2 = b\gamma b = (b\gamma_1a\gamma_2b)\gamma(b\gamma_1a\gamma_2b) = b\gamma_1(a\gamma_2b)\gamma(b\gamma_1a)\gamma_2b = b\gamma_1(b\gamma_1a)\gamma(a\gamma_2b)\gamma_2b = (b\gamma_1b)\gamma_10 = 0$. Also $a\gamma_1(b\gamma_2a\gamma_1(b\gamma_2a + b))\gamma_2a = a\gamma_1(b\gamma_2a + b)\gamma_2a = a\gamma_1(b\gamma_2a\gamma_2a + b\gamma_2a) = a\gamma_1(0 + b\gamma_2a) = a\gamma_1b\gamma_2a = a$ and $(b\gamma_2a\gamma_1(b\gamma_2a + b))\gamma_2a\gamma_1(b\gamma_2a\gamma_1(b\gamma_2a + b)) = b\gamma_2a\gamma_1(b\gamma_2(a\gamma_2a)\gamma_1b\gamma_2a\gamma_1(b\gamma_2a + b) + b\gamma_2a\gamma_1b\gamma_2a\gamma_1(b\gamma_2a + b)) = b\gamma_2a\gamma_1(b\gamma_2a\gamma_1b\gamma_2a\gamma_1(b\gamma_2a + b)) = (b\gamma_2a\gamma_1b)\gamma_2(a\gamma_1b\gamma_2a)\gamma_1(b\gamma_2a + b) = b\gamma_2a\gamma_1(b\gamma_2a + b)$. By uniqueness of b , $b\gamma_2a\gamma_1(b\gamma_2a + b) = b$. Thus $0 = b\gamma_1b = b\gamma_2a\gamma_1(b\gamma_2a + b)\gamma_1b = b\gamma_2a\gamma_1(b\gamma_2a\gamma_1b + 0) = b\gamma_2a\gamma_1b = b$. So a must be 0. Hence M contains no non-zero nilpotent elements.

Proposition 2.4. *A Γ -near-ring M which is zero-symmetric and without non-zero nilpotent elements is an IFP Γ -near-ring.*

Proof. If $x\gamma y = 0$ for $x, y \in M$ and for all $\gamma \in \Gamma$, then $(y\gamma x)^2 = y\gamma 0 = 0$. This implies that $y\gamma x = 0$. Now for $\gamma_1, \gamma_2 \in \Gamma$, $n \in M$, $(x\gamma_1n\gamma_2y)^2 = x\gamma_1n\gamma_2(y\gamma x)\gamma_1n\gamma_2 = (x\gamma_1n)\gamma_20\gamma_1(n\gamma_2y) = (x\gamma_1n)\gamma_20 = 0$ and hence $x\gamma_1n\gamma_2y = 0$. Therefore M is a IFP Γ -near-ring.

Corollary 2.5. *Every GGNF is an IFP Γ -near-ring.*

3. Characterization of GGNF by regularity

In the following theorem, we obtain equivalent conditions for generalized gamma near-field.

Theorem 3.1. *The following are equivalent:*

- (i) M is a GGNF
- (ii) M is regular and each idempotent is central
- (iii) M is regular and sub-commutative.

Proof.

(i) \Rightarrow (ii): Let M be GGNF. By Theorem 2.2, M is regular and idempotents commute. Let $e \in M$ be an idempotent. For $a \in M$ and $\gamma \in \Gamma$, we have $(a - a\gamma e)\gamma e = a\gamma e - a\gamma(e\gamma e) = 0$. Since M is an IFP (Corollary 2.5), $(a - a\gamma e)\gamma b\gamma e = 0$ for $b \in M$ and so $a\gamma b\gamma e = a\gamma(e\gamma b\gamma e)$. Since $(e\gamma b - e\gamma b\gamma e)\gamma e = 0$, $e\gamma(e\gamma b - e\gamma b\gamma e) = 0$ and so $e\gamma b\gamma(e\gamma b - e\gamma b\gamma e) = 0$. Consider $(e\gamma b - e\gamma b\gamma e)^2 = (e\gamma b - e\gamma b\gamma e)\gamma(e\gamma b - e\gamma b\gamma e) = (e\gamma b)\gamma(e\gamma b - e\gamma b\gamma e) - (e\gamma b\gamma e)\gamma(e\gamma b - e\gamma b\gamma e) = -(e\gamma b)\gamma e\gamma(e\gamma b - e\gamma b\gamma e) = -(e\gamma b)\gamma 0 = 0$. This implies that $e\gamma b - e\gamma b\gamma e = 0$ which implies that $e\gamma b = e\gamma b\gamma e$. Therefore $a\gamma b\gamma e = a\gamma(e\gamma b\gamma e) = a\gamma(e\gamma b)$. Since M is regular, $a = f\gamma a$ where f is a suitable idempotent and for all $\gamma \in \Gamma$. So $a\gamma e = (f\gamma a)\gamma e = f\gamma e\gamma a = e\gamma f\gamma a = e\gamma a$. Therefore e is central.

(ii) \Rightarrow (iii): Since M is regular for each $0 \neq a \in M$, $a = a\gamma_1 x\gamma_2 a$ for some $x \in M$ and for every pair of non-zero elements γ_1, γ_2 of Γ . Now $(a\gamma x)^2 = (a\gamma x)\gamma(a\gamma x) = (a\gamma x\gamma a)\gamma x = a\gamma x$ and $(x\gamma a)^2 = (x\gamma a)\gamma(x\gamma a) = x\gamma(a\gamma x\gamma a) = x\gamma a$. Therefore $a\gamma x$ and $x\gamma a$ are idempotents. Hence $a\gamma M = (a\gamma x\gamma a)\gamma M = a\gamma(x\gamma a)\gamma M = a\gamma M\gamma(x\gamma a) \subseteq M\gamma a$. Similarly $M\gamma a = M\gamma(a\gamma x\gamma a) = M\gamma(a\gamma x)\gamma a = (a\gamma x)\gamma M\gamma a = a\gamma(x\gamma M\gamma a) \subseteq a\gamma M$. Thus $a\gamma M = M\gamma a$ i.e., M is sub-commutative.

(iii) \Rightarrow (i): Let e and f be idempotents in M . Since M is sub-commutative, $M\gamma e = e\gamma M$ for all $\gamma \in \Gamma$. Therefore there exists x and $y \in M$ such that $f\gamma e = e\gamma x$ and $e\gamma f = y\gamma e$. This gives that $e\gamma f\gamma e = e\gamma(e\gamma x) = e\gamma x = f\gamma e$. Also $e\gamma f\gamma e = (y\gamma e)\gamma e = y\gamma e = e\gamma f$. This implies that idempotents commute. By Theorem 2.2, M is a GGNF.

4. Characterization of gamma near-filed

Proposition 4.1. *If for each $0 \neq a \in M$ and for every pair of non-zero elements γ_1, γ_2 of Γ , there exists a unique $a' \in M$ such that $a\gamma_1 a'\gamma_2 a = a$, then M has no zero divisors.*

Proof. Suppose $c \neq 0$ and $a \neq 0$, then $c\gamma a \neq 0$ for all $\gamma \in \Gamma$. For, if $c\gamma_2 a = 0$ for $\gamma_2 \in \Gamma$, we have that $a\gamma_1(a' + c)\gamma_2 a = a\gamma_1(a'\gamma_2 a + c\gamma_2 a) = a\gamma_1 a'\gamma_2 a = a$. By uniqueness of a' , $a' + c = a'$ which implies $c = 0$. This is a contradiction. Hence M has no zero divisors.

Proposition 4.2. *If for each $0 \neq a \in M$ and for every pair of non-zero elements γ_1, γ_2 of Γ there exists a unique $a' \in M$ such that $a\gamma_1 a'\gamma_2 b = b, b\gamma_1 a'\gamma_2 a = b$ for all $b \in M$, then M has no zero divisors.*

Proof. Suppose $b \neq 0$ and $a \neq 0$, then $b\gamma a \neq 0$ for all $\gamma \in \Gamma$. For, if $b\gamma_2 a = 0$ for $\gamma_2 \in \Gamma$ and for some $a \neq 0 \in M$, $b\gamma_1(a' + b)\gamma_2 a = b\gamma_1(a'\gamma_2 a + b\gamma_2 a) = b\gamma_1 a'\gamma_2 a = b$. Now $b\gamma_2 b = b\gamma_2(a\gamma_1 a'\gamma_2 b) = (b\gamma_2 a)\gamma_1 a'\gamma_2 b = 0$. Therefore $a\gamma_1(a' + b)\gamma_2 b = a\gamma_1(a'\gamma_2 b + b\gamma_2 b) = a\gamma_1 a'\gamma_2 b = b$. By uniqueness of a' , $a' + b = a'$ which implies $b = 0$. This is a contradiction. Hence M has no zero divisors.

Theorem 4.3. *Let M be a Γ -near-ring. Then the following are equivalent:*

- (i) *Every non-zero element of M has multiplicative inverse i.e., for all $0 \neq a \in M$ there exists a unique $a' \in M$ such that $a\gamma a' = a'\gamma a = e$ for all $\gamma \in \Gamma$, where e is the identity in M .*
- (ii) *For $a \neq 0$ in M and for every pair of non-zero elements γ_1, γ_2 of Γ there exists a unique $a' \in M$ such that $a\gamma_1 a'\gamma_2 b = b$ and $b\gamma_1 a'\gamma_2 a = b$ for all $b \in M$.*
- (iii) *M is a GGNF and has no zero divisors.*
- (iv) *M contains a non-zero left distributive element and for each $0 \neq a \in M$ and for every pair of non-zero elements γ_1, γ_2 of Γ there exists a unique $a' \in M$ such that $a\gamma_1 a'\gamma_2 a = a$.*

Proof.

(i) \Rightarrow (ii): Let $0 \neq a \in M$. For $\gamma_1 \neq 0$ and $\gamma_2 \neq 0$ in Γ and for $b \in M$, $a\gamma_1 a'\gamma_2 b = (a\gamma_1 a')\gamma_2 b = e\gamma_2 b = b$. Similarly $b\gamma_1 a'\gamma_2 a = b\gamma_1(a'\gamma_2 a) = b\gamma_1 e = b$.

(ii) \Rightarrow (iii): By Proposition 4.2, M contains no zero divisors. By taking $b = a$ we get $a\gamma_1 a'\gamma_2 a = a$ where a' is unique. Now $a\gamma_1(a'\gamma_1 a\gamma_2 a')\gamma_2 a = (a\gamma_1 a'\gamma_1 a)\gamma_2 a'\gamma_2 a = a\gamma_2 a'\gamma_2 a = a$. By uniqueness of a' , $a'\gamma_1 a\gamma_2 a' = a'$.

(iii) \Rightarrow (iv): For $0 \neq a \in M$, $a\gamma_2(a\gamma_1 a'\gamma_2 a) = a\gamma_2 a$ which implies that $(a\gamma_2 a\gamma_1 a')\gamma_2 a - a\gamma_2 a = 0$. That is $(a\gamma_2 a\gamma_1 a' - a)\gamma_2 a = 0$ and since M contains no zero divisors, $a\gamma_2 a\gamma_1 a' = a$. Thus $a\gamma_1 a' = e$ becomes two-sided identity in M . Therefore M contains a left distributive element $e = a\gamma_1 a'$. By hypothesis, it is clear that for each $0 \neq a \in M$ and for every pair of non-zero elements γ_1, γ_2 of Γ there exists a unique $a' \in M$ such that $a\gamma_1 a'\gamma_2 a = a$.

(iv) \Rightarrow (i): For each $0 \neq a \in M$, there exists a unique $x \in M$ such that $(a\gamma_0)\gamma_1 x\gamma_2(a\gamma_0) = a\gamma_0$. Both 0 and $(a\gamma_0)$ satisfy the above equation. So by uniqueness $0 = a\gamma_0$. Also $(a'\gamma_1 a\gamma_2 a' - a)\gamma_1 a = a'\gamma_1(a\gamma_2 a'\gamma_1 a) - a'\gamma_1 a = a'\gamma_1 a - a'\gamma_1 a = 0$. By Proposition 4.1 we get $a'\gamma_1 a\gamma_2 a' = a'$. Let $n \neq 0$ be a left distributive element in M . By hypothesis there exists a unique $n' \in M$ such that $n\gamma_1 n'\gamma_2 n = n$. Now $n\gamma_2(n\gamma_1 n'\gamma_2 n) = n\gamma_2 n$ and so $(n\gamma_2 n\gamma_1 n')\gamma_2 n - n\gamma_2 n = 0$. Since $n \neq 0$ and $(n\gamma_2 n\gamma_1 n' - n)\gamma_2 n = 0$, we get $n\gamma_2 n\gamma_1 n' - n = 0$. That is $n\gamma_2 n\gamma_1 n' = n$. Therefore $n\gamma_1 n' = e$ becomes two-sided identity for n . Let $m \in M$. Then $(m\gamma_2 e - m)\gamma_2 n = m\gamma_2 e\gamma_2 n - m\gamma_2 n = m\gamma_2 n - m\gamma_2 n = 0$. By Proposition 4.1, $m\gamma_2 e - m = 0$ and so $m\gamma_2 e = m$. Since n is left distributive, $n\gamma_2(e\gamma_2 m - m) = n\gamma_2(e\gamma_2 m) - n\gamma_2 m = (n\gamma_2 e)\gamma_2 m - n\gamma_2 m = n\gamma_2 m - n\gamma_2 m = 0$. By Proposition 4.1, we get $e\gamma_2 m - m = 0$.

That is $e\gamma_2 m = m$. Thus e becomes two-sided the identity for M . Let $0 \neq m \in M$. Then there exists $m' \in M$ such that $m\gamma_1 m'\gamma_2 m = m = e\gamma_2 m$, i.e., $m\gamma_1 m'\gamma_2 m - e\gamma_2 m = 0$. This gives that $(m\gamma_1 m' - e)\gamma_2 m = 0$ and so $m\gamma_1 m' = e$ and $m'\gamma_1 m\gamma_2 m' = m' = e\gamma_2 m'$. Similarly this implies that $m'\gamma_1 m = e$, that is m' is the inverse of m .

Acknowledgement. The authors would like to thank the referee for valuable suggestions for filling certain gaps in the proof of a vital result in the paper.

References

1. G.L. Booth, Radicals of Γ -near-rings, *Publicationes Mathematicae* **37** (1990), 3-4.
2. J.M. Howie, *An Introduction to Semi-group Theory*, Academic Press, New York, 1976.
3. S. Ligh, On regular near-rings, *Math. Japon* **15** (1970), 7-13.
4. C.V.L.N. Murty, Generalized near-fields, *Proceedings of the Edinburgh Mathematical Society* **27** (1984), 21-24.
5. G. Pilz, *Near-rings*, North-Holland, Amsterdam, 1983.
6. Bh. Satyanarayana, Contributions to near-ring theory, *Ph.D dissertation submitted to Nagarjuna University, India* (1984).